
 

 

COMPOUND INTEREST Work Sheet 

 
1. At what rate percentage p.a. will  ` 5625 amount to ` 6084 in 2 years at 

compound interest? 
ve;j $l;L tl;b tPjj;jpy;> ` 5625 MdJ 2 Mz;Lfspy; ` 6084 Mf 
khWk;? 
a.  4%  b. 5%  c. 10%  d. 6% 

 Solution: 

  Amount (A) = 1
100

n
r

P
 
 

 
 

      6084 = 5625 
2

1
100

r 
 

 
 

              
2

1
100

r 
 

 
= 

6084

5625
 

 Taking square root on both sides, 

1
100

r
  = 

78

75
 

          
100

r
 = 

78

75
 - 1  

    
100

r
 = 

1

25
 

      r = 4% 
 

2. The time taken for ₹  4400 to become ₹  4851 at 10%, compounded half 
yearly is? 
10% Mz;L tl;bapy;> miuahz;Lf;nfhUKiw tl;bf; 
fzf;fplg;gl;lhy;> ₹  4400 MdJ ₹  4851Mf vj;jid Mz;L MFk;? 

a. 1 year  b. 1 
1

2
years  c. 2 years  d. 2 

1

2
years 

     Solution: 
  P = Rs. 4400 
  A = Rs. 4851 

  r = 10% = 
10

2
 = 5% 



 

A = 
2

1
100

n
r

P
 
 

 
 

            4851 = 4400 
2

5
1

100

n

 
 

 
 

    = 4400 
2

100 5
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n
 

 
 

 

 
4851

4400
 = 

2
105

100

n

 
 
 

 

          

2
21

20

n

 
 
 

 = 
441
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          
2

21

20

n

 
 
 

 = 
2

21
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 
 
 

 

                 2n = 2   
                   n = 1 
 

3. A sum of money becomes ₹  18000 in 2 years and ₹  40500 in 4 years on 
compound interest. Find the sum. 
Xu; mryhdJ $l;L tl;b Kiwapy;> 2 Mz;Lfspy; ₹  18000MfTk;> 4 
Mz;Lfspy; ₹  40500MfTk; MfpwJ vdpy;> mriyf; fhz;f. 
a. ` 8,000  b. ` 6,000  c. ` 5,000  d. ` 9,000 

 Solution: 

Amount (A) = 1
100

n
r

P
 
 

 
 

 18000 = 
2

1
100

r
P
 
 

 
 

       
2

1
100

r 
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 
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18000

P
 

      
4

1
100

r 
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 = 

2
18000

P

 
 
 

    (1) 

Now, 40500 = 
4

1
100

r
P
 
 

 
   (2) 

Sub. (1) in (2) 

 40500 = P 
2

18000

P

 
 
 

 

         P = 
18000 18000

40500


 = Rs. 8000 

 



 

4. Find the compound interest on ` 20,000 at 15% per annum for 2 
1

3
 

years. 

` 20,000f;F Mz;L 15% tl;b tPjj;jpw;F 2 
1

3
Mz;LfSf;Ff; $l;L 

tl;biaf; fhz;f. 
a. ` 7,700  b. ` 7772.50  c. ` 7892.50  d. ` 7900 

 Solution: 

  P = Rs. 20000, r = 15%, n = 
1

2
3

 years 

A =  
2

1
100

r
P
 
 

 

1
1
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    = 
2
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20000 1
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 
 

 

1 15
1

3 100

  
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    = 20000   
23

20
   

23

20
   

21

20
 = Rs. 27772.50  

         C.I = 27772.50 – 20000 = Rs. 7772.50 
 

5. At what rate per annum will ` 640 amount to ` 774.40 in 2 years, 
when interest is being compounded annually? 
` 640 MdJ ,uz;L Mz;Lfspy; $l;Lj;njhif ` 774.40 MFk;.  $l;L 
tl;b tPjk; fhz;f.  (tl;b Mz;bw;F xU Kiw mrYld; NrUfpd;wJ) 
a.5%   b. 10%  c. 15%   d. 8% 

 Solution: 

Amount = 1
100

n
r

P
 
 

 
 

    774.40 = 640 
2

1
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2

1
100

r 
 

 
 

    
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1
100

r 
 

 
 

      
2

88

80

 
 
 

 = 
2

1
100

r 
 

 
 

     1
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r
  = 
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r
 = 
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r
 = 

8

80
 

           r = 10% 


